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NEW QUESTION 1

A network administrator is implementing a routing configuration change and enables routing debugs to track routing behavior during the change. The logging
output on the terminal is interrupting the command typing process. Which two actions can the network administrator take to minimize the possibility of typing

commands incorrectly? (Choose two.)

A. Configure the logging synchronous global configuration command

B. Configure the logging delimiter feature

C. Configure the logging synchronous command under the vty

D. Press the TAB key to reprint the command in a new line

E. increase the number of lines on the screen using the terminal length command

Answer: CD

NEW QUESTION 2

Which function in handled by vManage in the cisco SD-WAN fabric?

A. Establishes BFD sessions to test liveliness of links and nodes.

B. Distributes polices that govern data forwarding.

C. Performs remote software upgrades for WAN Edge vSmart and vBond.
D. Establishes iPsec tunnels with nodes

Answer: C

NEW QUESTION 3
A customer requests a network design that supports these requirements:

* FHRP redundancy

* Mmuitivendor router environment

-

* |Pv4 and IPv6 host

Which protocol does the design include?
A. HSRP version 2

B. VRRP version 2

C. GLBP

D. VRRP version 3

Answer: D

NEW QUESTION 4

A network engineer is configuring Flexible Netflow and enters these commands Sampler Netflowl

Mode random one-out-of 100 Interface fastethernet 1/0 Flow-sampler netflowl

Which are two results of implementing this feature instead of traditional Netflow? (Choose two.)

A. CPU and memory utilization are reduced.

B. Only the flows of top 100 talkers are exported

C. The data export flow is more secure.

D. The number of packets to be analyzed are reduced
E. The accuracy of the data to be analyzed is improved

Answer: AD

NEW QUESTION 5

Which DHCP option helps lightweight APs find the IP address of a wireless LAN controller?
A. Option 43

B. Option 60

C. Option 67

D. Option 150

Answer: A

NEW QUESTION 6

What is a characteristic of YANG?

A. Itis a Cisco proprietary language that models NETCONF data

B. It allows model developers to create custom data types

C. It structures data in an object-oriented fashion to promote model reuse

D. It provides loops and conditionals to control now within models

Answer: C
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NEW QUESTION 7

Which devices does Cisco DNA Center configure when deploying an IP-based access control policy?

A. All devices integrating with ISE
B. selected individual devices

C. all devices in selected sites

D. all wired devices

Answer: A

Explanation:

When you click Deploy, Cisco DNA Center requests the Cisco ldentity Services Engine (Cisco ISE) to send notifications about the policy changes to the network

devices.

NEW QUESTION 8

While configuring an IOS router for HSRP with a virtual IP of 10 1.1.1. an engineer sees this log message.

A. Change the HSRP group configuration on the remote router to 1.

B. Change the HSRP group configuration on the local router to 1.

C. Change the HSRP virtual address on the remote router to 10.1.1.1
D. Change the HSRP virtual address on the local router to 10.1.1.1

Answer: B

NEW QUESTION 9
How does EIGRP differ from OSPF?

A. EIGRP is more prone to routing loops than OSPF

B. EIGRP supports equal or unequal path cost, and OSPF supports only equal path cost.
C. EIGRP has a full map of the topology, and OSPF only knows directly connected neighbors

D. EIGRP uses more CPU and memory than OSPF

Answer: B

NEW QUESTION 10
Refer to the exhibit.

Rl

router bgp 1000

address-family ipv4 unicast

neighbor 209.165.201.2 remote-as 2000
network 10.0.0.0 mask 255.255.255.0
description Peer Router B

R2

router bgp 2000
address-family ipv4 unicast
neighbor 205.165.201.1 remoce-a
network 10.0.0.0 mask 255,255.,2

description Peer Router A

Which two commands are needed to allow for full reachability between AS 1000 and AS 20007 (Choose two)

A. R1#network 19.168.0.0 mask 255.255.0.0

B. R2#no network 10.0.0.0 255.255.255.0

C. R2#network 19.168.0.0 mask 255.255.0.0

D. R2#network 209.165.201.0 mask 255.255.192.0
E. R1#no network 10.0.0.0 255.255.255.0

Answer: BC

NEW QUESTION 10
Refer to the exhibit.
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Which configuration change will force BR2 to reach 209 165 201 0/27 via BR1?

A. Set the weight attribute to 65.535 on BR1 toward PE1.

B. Set the local preference to 150 on PE1 toward BR1 outbound
C. Set the MED to 1 on PE2 toward BR2 outbound.

D. Set the origin to igp on BR2 toward PE2 inbound.

Answer: C

NEW QUESTION 12

Which encryption hashing algorithm does NTP use for authentication?
A. SSL

B. MD5

C. AES128

D. AES256

Answer: D

NEW QUESTION 16
Refer to the exhibit.
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ip sddress 10.1.1 10 2885 5% 258 0
ip nat inside
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ip address 9. 06%.081.1 IS, IS I%G. I8
ip nat outeids

ip nat pool Busi M. 064, M1 2R 6% 2.0 nebmsak 255 255 F88 242
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A network engineer configures NAT on R1 and enters me show command to verity the configuration What toes the output confirm?
A. The first pocket triggered NAT to add on entry to NAT table

B. R1 is configured with NAT overload parameters

C. A Telnet from 160.1.1 1 to 10.1.1.10 has been initiated.

D. R1 to configured with PAT overload parameters

Answer: A
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NEW QUESTION 21
Drag and drop the threat defense solutions from the left onto their descriptions on the right.

Umbredls HIOAVIORS Malwara DrAtechon On enCpONts
LM pat provides IPSTIDS capabilites
FTD parforms sacunty analviics Dy collecting nenwork Alows
Stealthivatch probacts aganst emad threat vector
ESA orovides DNS protection
A. Mastered
B. Not Mastered
Answer: A
Explanation:
Imbreda | LMESE

U ST R T —

10 Steatthivatch

SreathWatch ESA

NEW QUESTION 25
Drag and drop the characteristics from the left onto the orchestration tools they describe on the right.

utikzes a pull model [em
utizes & push model
multimaster architecture Puppet
pnmary/secondary architecture

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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1 Ansibie
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utizes 3 push model
‘ " multimaster architecture
'. multimaster architecture
| Puppet
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'. primary/secondary architecture
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primary/secondary architecture

NEW QUESTION 26
What are two benefits of YANG? (Choose two.)

A. It enables multiple leaf statements to exist within a leaf list

B. It collects statistical constraint analysis information.
C. It enforces configuration constraints.
D. It enforces configuration semantics.

E. It enforces the use of a specific encoding format for NETCONF

Answer: BE

NEW QUESTION 29

What occurs when a high bandwidth multicast stream is sent over an MVPN using Cisco hardware?

A. The traffic uses the default MDT to transmit the data only if it isa (S,G) multicast route entry

B. A data MDT is created to if it is a (*, G) multicast route entries

C. A data and default MDT are created to flood the multicast stream out of all PIM-SM neighbors.
D. A data MDT is created to allow for the best transmission through the core for (S, G) multicast route entries.

Answer: B

NEW QUESTION 34
Refer to the exhibit.

Switchport: Enabied

A (}] I

Gperational M

Admini i K ] Encaj 4

8 19fta nkt neapaul 1 1

Hegotiation of T g: Of

h 8 Mod Y fdef |

1 3 s & Modas VLAL 35 (MAT i
it R

SWlé show interfaces gigabitethernet 0/0 switchport

5.4 show interfaces gigabitethernat 0/1 awitchport

Vian200

Vian200

Gel)/2

Gad0

Viani00

PCl

Galdi 5

Gel

Vian100

The connecting between SW1 and SW2 is not operational. Which two actions resolve the issue? (Choose two)

A. configure switchport mode access on SW2

B. configure switchport nonegotiate on SW2

C. configure switchport mode trunk on SW2

D. configure switchport nonegotiate on SW1

E. configure switchport mode dynamic desirable on SW2

Answer: CE
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NEW QUESTION 37

Which command set configures RSPAN to capture outgoing traffic from VLAN 3 on interface GigabitEthernet 0/3 while ignoring other VLAN traffic on the same

interface?
monitor session 2
monitor session 2

monitor session 2

source interface gigabitethernet( J tx
[ ]

iter vian J

source interface gigabitethernet0/'J t
monitor session 2 filter vian 1 -2 4 - 40684
monitor session 2 source interface gigabitethernetQ J rx
monitor session 2 filter vian 1
« Monitor session 2 source interface gigabitethernetl 3 rx
monntor session 2 Nilter vian 1 -2 . 4 - 4094

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 42

Which AP mode allows an engineer to scan configured channels for rogue access points?

A. sniffer
B. monitor
C. bridge
D. local

Answer: B

NEW QUESTION 46

A company plans to implement intent-based networking in its campus infrastructure. Which design facilities a migrate from a traditional campus design to a

programmer fabric designer?
A. Layer 2 access

B. three-tier

C. two-tier

D. routed access

Answer: C

NEW QUESTION 47

Which measurement is used from a post wireless survey to depict the cell edge of the access points?

A. SNR
B. Noise
C. RSSI
D. CCl

Answer: A

NEW QUESTION 52

Which two methods are used to reduce the AP coverage area? (Choose two)

A. Reduce channel width from 40 MHz to 20 MHz

B. Disable 2.4 GHz and use on
C. Reduce AP transmit power.

ly 5 GHz.

D. Increase minimum mandatory data rate

E. Enable Fastlane

Answer: CD

NEW QUESTION 54
Refer to the exhibit.
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AS2

=

192.168.10.0/24 |'~'a=3-0$£‘?3
> i

. [

Which configuration establishes EBGP neighborship between these two directly connected neighbors and exchanges the loopback network of the two routers
through BGP?
A)

FT/0

R1(config)¥router bgp 1
R1(config router)@neighbor 192.168.10.2 remote-as 2
R1(config router)mnetwork 10.1.1.0 mask 255.255.255.0

RZ(config)frouter bgp 2
RZ2(config router iineighbor 192.168.10.1 remote-as 1
RZ2(conhg-router JTnetwork 10.2.2.0 mask 235.2588.258.0

B)

R1(conhg¥router bgp 1
RK1{conhg-routlcr J#neighbor 10.2.2.2 remote-as 2
R1(config-router J#network 10.1.1.0 mask 266.266.266.0

R2(config)¥router bgp 2
RZ(config router)neighbor 10.1.1.1 remote-as 1
R2(config router)network 10.2.2.0 mask 255.255.255.0

C)

H1(conhg Frouter bgp 1
H1{conhg-router jJ=neighbor 192.168.10.2 remote-as 2
R1(conhg-router ) =network 10.0.0.0 mask 255.0.0.0

RZ(conhg)router bgp 2
RZ(conhg-routcr #neighbor 192.168.10.1 remote-as 1
R2Z2(conhg-routcr }¥network 10.0.0.0 mask 266.0.0.0

D)

R1({configyrouter bgp 1

R1(config router)Tneighbor 10.2.2.2 remote-as 2
R1(config router ) Tneighbor 10.2.2.2 update-source lo0
R1(conhg-router ) network 10.1.1.0 mask 2535.2355.253.0

RZ(config)=router bgp 2

RZ(conhg-router J=neighbor 10.1.1.1 remote-as 1
RZ2{conhg-router neighbor 10.1.1.1 update-source o0
R2Z2{conhg-router =network 10.2.2.0 mask 256.265.25656.0

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

Explanation:

With BGP, we must advertise the correct network and subnet mask in the “network” command (in this case network 10.1.1.0/24 on R1 and network 10.2.2.0/24 on
R2). BGP is very strict in the routing advertisements. In other words, BGP only advertises the network which exists exactly in the routing table. In this case, if you
put the command “network X.x.0.0 mask 255.255.0.0” or “network x.0.0.0 mask 255.0.0.0” or “network x.x.x.x mask 255.255.255.255" then BGP will not

advertise anything.

It is easy to establish eBGP neighborship via the direct link. But let's see what are required when we want to establish eBGP neighborship via their loopback
interfaces. We will need two commands:

+ the command “neighbor 10.1.1.1 ebgp-multihop 2” on R1 and “neighbor 10.2.2.2 ebgpmultihop 2” on R1. This command increases the TTL value to 2 so that
BGP updates can reach the

BGP neighbor which is two hops away.

+ Answer ‘R1 (config) #router bgp 1

R1 (config-router) #neighbor 192.168.10.2 remote-as 2

R1 (config-router) #network 10.1.1.0 mask 255.255.255.0 R2 (config) #router bgp 2

R2 (config-router) #neighbor 192.168.10.1 remote-as 1

R2 (config-router) #network 10.2.2.0 mask 255.255.255.0 Quick Wireless Summary

Cisco Access Points (APs) can operate in one of two modes: autonomous or lightweight

+ Autonomous: self-sufficient and standalone. Used for small wireless networks.

+ Lightweight: A Cisco lightweight AP (LAP) has to join a Wireless LAN Controller (WLC) to function. LAP and WLC communicate with each other via a logical pair
of CAPWAP tunnels.
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— Control and Provisioning for Wireless Access Point (CAPWAP) is an IETF standard for control messaging for setup, authentication and operations between APs
and WLCs. CAPWAP is similar to LWAPP except the following differences:

+CAPWAP uses Datagram Transport Layer Security (DTLS) for authentication and encryption to

protect traffic between APs and controllers. LWAPP uses AES.

+ CAPWAP has a dynamic maximum transmission unit (MTU) discovery mechanism.

+ CAPWAP runs on UDP ports 5246 (control messages) and 5247 (data messages) An LAP operates in one of six different modes:

+ Local mode (default mode): measures noise floor and interference, and scans for intrusion detection (IDS) events every 180 seconds on unused channels

+ FlexConnect, formerly known as Hybrid Remote Edge AP (H-REAP), mode: allows data traffic

to be switched locally and not go back to the controller. The FlexConnect AP can perform standalone client authentication and switch VLAN traffic locally even
when it's disconnected to the WLC (Local Switched). FlexConnect AP can also tunnel (via CAPWAP) both user wireless data and control traffic to a centralized
WLC (Central Switched).

+ Monitor mode: does not handle data traffic between clients and the infrastructure. It acts like a sensor for location-based services (LBS), rogue AP detection, and
IDS

+ Rogue detector mode: monitor for rogue APs. It does not handle data at all.

+ Sniffer mode: run as a sniffer and captures and forwards all the packets on a particular channel to a remote machine where you can use protocol analysis tool
(Wireshark, Airopeek, etc) to review the packets and diagnose issues. Strictly used for troubleshooting purposes.

+ Bridge mode: bridge together the WLAN and the wired infrastructure together.

Mobility Express is the ability to use an access point (AP) as a controller instead of a real WLAN controller. But this solution is only suitable for small to midsize, or
multi-site branch locations where you might not want to invest in a dedicated WLC. A Mobility Express WLC can support up to 100 Aps

NEW QUESTION 59
What is the function of the LISP map resolver?

A. to send traffic to non-LISP sites when connected to a service provider that does not accept nonroutable EIDs as packet sources

B. to connect a site to the LISP-capable part of a core network publish the EID-to-RLOC mappings for the site, and respond to map-request messages
C. to decapsulate map-request messages from ITRs and forward the messages to the MS.

D. to advertise routable non-LISP traffic from one address family to LISP sites in a different address family

Answer: C

NEW QUESTION 62
Which controller is capable of acting as a STUN server during the onboarding process of Edge devices?

A. vBond

B. vSmart

C. vManage
D. PNP server

Answer: A

NEW QUESTION 65

Which benefit is offered by a cloud infrastructure deployment but is lacking in an on-premises deployment?
A. efficient scalability

B. virtualization

C. storage capacity

D. supported systems

Answer: A

NEW QUESTION 68
Refer to the exhibit.

Switch1#
*May 2 15:12:44:477: % SPANTREE-7-RECV_1Q_NON_TRUNK: Received 802.1Q BPDU on non trunk GigabitEthernet0/0 VLAN1.
*May 2 15:12:44:477: % SPANTREE.7.-BLOCK_PORT_TYPE: Blocking GigabitEthernet0/0 on VLAND0O1. Inconsistent port type.

VLAN10 VLAN10
10.0.0.1/24 10.0.0.2/24

hostname Switchl hostname Switch?2

! !

vip domain DATACENTER1 vip domain DATACENTER2

! !

Interface Gi0/0 Interface Gi0/0

description TO DC2Z-Switch2 description TO DCl-Switchl
switchport mode trunk switchport mode dynamic desirable
! '

Interface Vlianl0 Interface VlianlD

description LAN-10 description LAN-10

ip address 10.0.0.1 255.255.255.0 ip address 10.0.0.2 255.255.255.0

An engineer implemented several configuration changes and receives the logging message on switchl. Which action should the engineer take to resolve this
issue?
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A. Change the VTP domain to match on both switches
B. Change Switch2 to switch port mode dynamic auto
C. Change Switch1 to switch port mode dynamic auto
D. Change Switchl to switch port mode dynamic desirable

Answer: A

NEW QUESTION 72

An engineer must provide wireless converge in a square office. The engineer has only one AP and believes that it should be placed it in the middle of the room.

Which antenna type should the engineer use?

A. directional

B. polarized

C. Yagi

D. omnidirectional

Answer: D

NEW QUESTION 77
Refer to Exhibit.

Router A Router C

Router B _
Host X Host Y

MTU has been configured on the underlying physical topology, and no MTU command has been configured on the tunnel interfaces. What happens when a

1500-byte IPv4 packet traverses the GRE tunnel from host X to host Y, assuming the DF bit is cleared?

A. The packet arrives on router C without fragmentation.
B. The packet is discarded on router A

C. The packet is discarded on router B

D. The packet arrives on router C fragmented.

Answer: D

Explanation:
Text Description automatically generated

Like any protocol, using GRE adds a few bytes to the size of data packets. This must be factored into the
MSS and MTU settings for packets. If the MTU is 1,500 bytes and the MSS is 1,460 bytes (to account for
the size of the necessary IP and TCP headers), the addition of GRE 24-byte headers will cause the

packets to exceed the MTU:

- ! N 5 L R T e T WY b mame T H
TP S+ 14 F o a1 i < ¥ LT T e Trder o
‘._-.|_F.'."-\.f'_-||. el .g- | -\_':I 'Irr'_.l'-\."'.:‘ S LD [ (i -\.D.-.."g' B

i 4 F i 4

As a result, the packets will be fragmented. Fragmentation slows down packet delivery times and
Increases how much compute power i1s used, because packets that exceed the MTU must be broken

down and then reassembled.

NEW QUESTION 78
Refer to the exhibit.
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Router2# show policy-map control-plane

Control Plane
Service-policy input:CISCO
Class-map:CISCO (match-all)
20 packets, 11280 bytes
5 minute offered rate 0 bps, drop rate 0 bps
Match:access-group 120
police:
8000 bps, 1500 limit, 1500 extended limit
conformed 15 packets, 6210 bytes; action:transmit
exceeded 5 packets, 5070 bytes; action:drop
violated 0 packets, 0 bytes; action:drop
conformed O bps, exceed 0 bps, violate 0 bps
Class-map:class-default (match-any)
105325 packets, 11415151 bytes
S minute offered rate 0 bps. drop rate 0 bps
Match.any

An engineer configures CoPP and enters the show command to verify the implementation. What is the result of the configuration?

A. All traffic will be policed based on access-list 120.

B. If traffic exceeds the specified rate, it will be transmitted and remarked.
C. Class-default traffic will be dropped.

D. ICMP will be denied based on this configuration.

Answer: A

NEW QUESTION 79
Refer to the exhibit.

interface Vianio

p vrf forwarding Customer1

p address 192.168.1.1 255.255 255.0
1

interface VianZ0

p vrf forwarding Customer2

p address 17/2.16.1.1 255.255.255.0
1
interface Viani(

p vrf forwarding Customer3

p address 10.1.1.1 255.255.255.0

Which configuration allows Customer2 hosts to access the FTP server of Customerl that has the IP address of 192.168.1.2007?

A. ip route vrf Customerl 172.16.1.0 255.255.255.0 172.16.1.1 globalip route vrf Customer 192.168.1.200 255.255.255.255 192.168.1.1 globalip route 192.168.1.0
255.255.255.0 VlanlOip route 172.16.1.0 255.255.255.0 VIan20

B. ip route vrf Customerl 172.16.1.0 255.255.255.0 172.16.1.1 Customer2ip route vrf Customer 192.168.1.200 255.255.255.255 192.168.1.1 Customerl

C. ip route vrf Customerl 172.16.1.0 255.255.255.0 172.16.1.1 Customerlip route vrf Customer 192.168.1.200 255.255.255.255 192.168.1.1 Customer2

D. ip route vrf Customerl 172.16.1.1 255.255.255.255 172.16.1.1 globalip route vrf Customer 192.168.1.200 255.255.255.0 192.168.1.1 globalip route 192.168.1.0
255.255.255.0 VlanlOip route 172.16.1.0 255.255.255.0 Vlan20

Answer: A

NEW QUESTION 81
In an SD-Access solution what is the role of a fabric edge node?

A. to connect external Layer 3- network to the SD-Access fabric
B. to connect wired endpoint to the SD-Access fabric

C. to advertise fabric IP address space to external network

D. to connect the fusion router to the SD-Access fabric

Answer: B
Explanation:

+ Fabric edge node: This fabric device (for example, access or distribution layer device) connects

NEW QUESTION 82
AN engineer is implementing a route map to support redistribution within BGP. The route map must configured to permit all unmatched routes. Which action must
the engineer perform to complete this task?

A. Include a permit statement as the first entry

B. Include at least one explicit deny statement
C. Remove the implicit deny entry
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D. Include a permit statement as the last entry

Answer: D

NEW QUESTION 83
Refer to the exhibit.

1
MUAC

HOST A ]f'_?f"'-l

G0/2

VLAN 10

=

—

—

0.1.1.10/24
:asaa.bbbb.cocoe

10.1.1.20/24

MAC: aaaa.bbbb.dddd

An engineer must deny HTTP traffic from host A to host V while allowing all other communication between the hosts, drag and drop the commands into the
configuration to achieve these results. Some commands may be used more than once. Not all commands are used.

5wl - y F
» l”ﬂ“ftﬂ'ii lp aCCaAEE-118T "':‘:-'.l"!".-'jh’] DERY HTTP
W1 ([config-ext-nacl) r i._.., bt T8 .
P host 10.1.1.10 host «1.1.20 og www
EW] {{H]'LI 11]1' L;,.' ACCeAa-1l15t extanded MAT™H ALL
EW] (conflg-axt nacal)# ip ANy anvy
SN] (config)# vlan a HOST-A-B 1
EW1l {(conflg acocass-map) # match address DENY-HTTE
SW) (conflg-anpass map) 4 -
SW] (config) ¥ ATl ACCH rap HOST-A-B 2
Wl (conflqg aocoass-map)d match s -t A
W] {oonf g acoess-map) 4
SWl (config) ¥ aty L[ilter H -2 lan 1
1 - iy
* 1 s

A. Mastered
B. Not Mastered

Answer: A
Explanation:

Deny Permit Action drop
Action forward

NEW QUESTION 88
What is the difference between CEF and process switching?

A. CEF processes packets that are too complex for process switching to manage.
B. CEF is more CPU-intensive than process switching.

C. CEF uses the FIB and the adjacency table to make forwarding decisions, whereas process switching punts each packet.

D. Process switching is faster than CEF.

Answer: C

NEW QUESTION 93
Refer to the exhibit.
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— " -
DeWZifsh spanning-tres vlan 10
LAND
Epanning tree enakbled protoccol ratp
Root Priorit 410€
o o N T
Adress JUlBE. r36d.3300
Thi= bridge is the reoot
. e - N . . - _ ~ = .
f&llo Tims < 2&c Max Age LU as Forwara Delay 1o 3&cC
. - T | - = - - i 4 1) - )
ridge I Friorat 410E {(pricrity 4026 sya-—-r1gd-axt 20)
gy g
Addresas 001E.7363.4300
" — - - I - £
Hallo Tims i Aagpe Max Age 2 sacs Forwara Dalay 15 asc
Aging Time 300
interface Rele Ita Coat rric.Nbr IType
- = - - =, -1 - ] = =
Fal/Q Deag EWD 2 1d8.3 Pip Peer (3TF
Fal/0/10 Desg FWD 4 128.12 Pip Peer (3TF)
- K - a e o - P P
Fal/u/11 Desg FWD £ 128.13 Fip Peer (3TFP)
Fal/0/12 Desg FWD 2 128.14 Fip Peer (STFP)

What is the result when a switch that is running PVST+ is added to this network?

A. DSW2 operates in Rapid PVST+ and the new switch operates in PVST+
B. Both switches operate in the PVST+ mode

C. Spanning tree is disabled automatically on the network

D. Both switches operate in the Rapid PVST+ mode.

Answer: A

Explanation:
From the output we see DSW2 is running in RSTP mode (in fact Rapid PVST+ mode as Cisco does not support RSTP alone). When a new switch running PVST+
mode is added to the topology, they keep running the old STP instances as RSTP (in fact Rapid PVST+) is compatible with PVST+.

NEW QUESTION 95
What is a consideration when designing a Cisco SD-Access underlay network?

A. End user subnets and endpoints are part of the underlay network.

B. The underlay switches provide endpoint physical connectivity for users.
C. Static routing is a requirement,

D. It must support IPv4 and IPv6 underlay networks

Answer: A

NEW QUESTION 96
Which protocol does REST API rely on to secure the communication channel?

A. TCP

B. HTTPS
C. SSH
D. HTTP

Answer: B

Explanation:

The REST API accepts and returns HTTP (not enabled by default) or HTTPS messages that contain JavaScript Object Notation (JSON) or Extensible Markup
Language (XML) documents. You can use any programming language to generate the messages and the JSON or XML documents that

contain the API methods or Managed Object (MO) descriptions.

NEW QUESTION 101
What are two considerations when using SSO as a network redundancy feature? (Choose two)

A. both supervisors must be configured separately

B. the multicast state is preserved during switchover

C. must be combined with NSF to support uninterrupted Layer 2 operations

D. must be combined with NSF to support uninterrupted Layer 3 operations

E. requires synchronization between supervisors in order to guarantee continuous connectivity

Answer: DE

Explanation:
Text Description automatically generated

against failure due to the Supervisor or loss of senvice because of snﬂwaredprcsblems The access layer 'tg,rpic:allg.f provides [ayer 2
serices, with redundant switches making up the distnbution layer. The Layer 2 access layer can benefit from 5SSO deployed without
NSF. Some Enterprises have deployed Layer 3 routing at the access layer. In that case. NSF/SSO can be used

Cisco 10S Nonstop Forwarding(NSF) always runs with stateful switchover (SSO) and provides redundancy for Layer 3 traffic.
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NEW QUESTION 105

When is an external antenna used inside a building?

A. only when using Mobility Express

B. when it provides the required coverage
C. only when using 2 4 GHz

D. only when using 5 GHz

Answer: A

NEW QUESTION 106
Refer to the exhibit.

Rcuter#5h|:un | b wty

line vty 0 4
ssion—-timeout 30
wec—timeout 20 0
session—-limit 30
login local
ine vty 5 15
sezsion-timsocut 30
exec—timsout 20 0
session-limit 30
login local

=

ih

i
i

4
1

f‘[l [NX]
|

Security policy requires all idle-exec sessions to be terminated in 600 seconds. Which configuration achieves this goal?

A. line vty 0 15absolute-timeout 600
B. line vty 0 15 exec-timeout

C. line vty 01 5exec-timeout 10 0

D. line vty 0 4exec-timeout 600

Answer: B

NEW QUESTION 111

What does the cisco REST response indicate?

[
Py

l.fr.s,.' H e ="
w1 @ wrd™ "1

o .,.'_1,1-;' w il
‘clatormld” “ASRE 1001 .0
"l el Tt aLrefloaumn”

o Tty sl dwlil ol ke "

ORI THouleASH -1
"macAdIeLE". 00 8 Bb 80 bt

ramily” TSl Fad and Hube
nierincelount” T4

el O oueT

et al W0 JaLIX

el ol waT b A oeble aing

w fuaal S 1afus” Ay e [ ghon Foaded
7 d 1- 'rl-‘-' 'I--‘-'-- 1.‘

machddecs™ T8 o 20867 53 80

Tamily Swlrtas and Mot
ineriaceCount™ TYr

el (O
';4;“.1" ‘ i e e W

Tearhatvlyy sl redtea s

reachalat, Slalus reahabic
T T W50 1
mad A RES E 3 11532 B
¥ i

A. Cisco DNA Center has the Incorrect credentials for cat3850-1

B. Cisco DNA Center is unable to communicate with cat9000-1

C. Cisco DNA Center has the incorrect credentials for cat9000-1

D. Cisco DNA Center has the Incorrect credentials for RouterASR-1

Answer: C

NEW QUESTION 115
What is the output of this code?
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def get_credentials():
creds={"username': 'cisco’, 'password': '¢3577dc8aede36c0bfMEfe5398614245")
return (creds.get{'username’))

print{get_credentials())

A. username Cisco
B. get_credentials
C. username

D. CISCO

Answer: D

NEW QUESTION 116
Which LISP component is required for a LISP site to communicate with a non-LISP site?

A.ETR
B.ITR
C. Proxy ETR
D. Proxy ITR

Answer: C

NEW QUESTION 119
Running the script causes the output in the exhibit. Which change to the first line of the script resolves the error?
import ncclient

with ncclient. manager.connect(
host ="192 168.1.1°,
port=830,
username = ‘root’,
password = "test398345152!°,
allow_agent = False) as m:
print{im.get_config(‘running’).data_xml)

Qutput
5 python get_config.py
Traceback (most recent call last ) :
File “get_config.py”, line 3, in <module>
with ncclient.manager.connect (host = "192.168.1.1, port = 830, username = ‘root’,
AttributeError: ‘'module’ object has no attribute ‘manager’

A. from ncclient import

B. import manager

C. from ncclient import*

D. import ncclient manager

Answer: A

NEW QUESTION 120
In cisco SD_WAN, which protocol is used to measure link quality?

A. OMP
B. BFD
C. RSVP
D. IPsec

Answer: B

NEW QUESTION 122
Drag and drop the virtual components from the left onto their deceptions on the right.

r'T o filw Ty & § sl machre
o i Fauts® on ki 45 & SrTul SR
Cva fle comtaring & vwlus nactune dub dewe
gL e F - g D TR Sl g TE L ¥ i
Te[i= . L
VMD drtual madte Such 88 guesl 05
; et of & vEs mschine MelpraRee
=y .
F BEEND ikt L0 15 Py eEreasle
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A. Mastered
B. Not Mastered

Answer: A
Explanation:
NIC op fie conrecting @ virtusl machine
" \ I corfigraton fle ard 8 vrtual ank
OWa file contmering a vietual machins dak orive
caniguraton fle contarsng settings for o
VMO virtual machine such &3 guesd 05
VMR [ eompenent of 8 wirtual machine resporuble
for sending patkets Lo the hypermor

NEW QUESTION 124
Refer to the exhibit.

—_— —_— —_— —_— —_—
L& }
N L B !
5,
%, T
B NAR
% L Jana-Al
” wetsd
-t & o
3
(TR RN .l:
_.f g W duiiopy  Puishs I g
F W bl A [TLREET
1 8L | 183
B R R FSEL 0 1
LA
BB LS BRI

Which set of commands on router r R1 Allow deterministic translation of private hosts PC1, PC2, and PC3 to addresses in the public space?
A)

1(config nt 100
outerR 1(config-®p nat inside
outerR 1(config-f sexit
1{config nt 10/1
outerR 1(config-f#p nat outside
1(config-fsexit
outerR 1{config M nat ins«de source statc 10 10 10.101 155 1.1 101
terR 1(config Wip nat nside source statc 10 10 10102 155.1.1.102
1{config Wip nat inside source statc 10 10 10.103 155 1.1 103

B)

1(config #nt 100
outerR 1 (config-f#ip nat inside
1(conhg-Nvext
1({config Wt 10/1
1(config-Mp nat outside
1({config-f)Sexi
1{config g natl nsude source stabe 10 10 10 101 155 1 1.101
1(config #p nat insade source stadc 10.10 10.102 155.1.1.102
1{config Wip nat inside source statc 10 10.10 103 1551 1 103

C)

RoutetR 1(config @nt 10.0

RouterR 1 (conhg-4 ) nat ns«de

RouterR 1(config-#f)@exit

RouterRR 1(config j#nt 101

RouterR 1(config-f)#p nat outside

RouterR 1(config- @ext

RouterR 1(config @access-bs! 1 10 10.1000.00.255

RouterR 1{conkg )ip nat pool POOL 155 1 1 101 155 1 1100 netrmask 295 245 255 0
RouterR 1{config kp nat inside source kst 1 pool POOL

D)

RouterR 1(config wnt 100

RouterR 1(config-f)@ip nat ins:de

RouterRR 1{config-f)#exit

RouterR 1{config#nt 11

RouterR 1(config-#)iip nat outside

RouterR 1(config-f @ext

RouterR 1{config ®access-ist 1 10.10.10.00.00.255

RouterR 1(config kp nat inside source kst 1 interface 10/1 overicad
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 125
Refer to the exhibit.

ip vrf BLUE

rd 1:1

|

interface Vlianl(d

description GLOBAL INTERFACE

ip address 10.10.1.254 255.255.255.0
]
access-list 101 permit ip 10.10.5.0 0.0.0.255 10.10.1.0
255.255.255.0

!
route-map VRF_TO GLOBAL permit 10

match ip address 101
sat global

]

interface VianSo00

description VRF BLUE

ip vrf forwarding BLUE

ip address 10.10.5.254 255.255.255.0
ip policy route-map VRF_TO_GLOBAL

An engineer attempts to create a configuration to allow the Blue VRF to leak into the global routing table, but the configuration does not function as expected.
Which action resolves this issue?

A. Change the access-list destination mask to a wildcard.

B. Change the source network that Is specified in access-list 101.
C. Change the route-map configuration to VRF_BLUE.

D. Change the access-list number in the route map

Answer: A

NEW QUESTION 126
Refer to the exhibit.

An engineer is installing a new pair of routers in a redundant configuration. Which protocol ensures that traffic is not disrupted in the event of a hardware failure?

A. HSRPv1
B. GLBP
C. VRRP
D. HSRPv2

Answer: A
Explanation:

The virtual MAC address is 0000.0c07.acXX (XX is the hexadecimal group number) so it is using HSRPv1. Note: HSRP Version 2 uses a new MAC address which
ranges from 0000.0C9F.F000 to 0000.0C9F.FFFF.

NEW QUESTION 128

How is MSDP used to interconnect multiple PIM-SM domains?

A. MSDP depends on BGP or multiprotocol BGP for mterdomam operation

B. MSDP SA request messages are used to request a list of active sources for a specific group
C. SDP allows a rendezvous point to dynamically discover active sources outside of its domain
D. MSDP messages are used to advertise active sources in a domain

Answer: A

NEW QUESTION 131
Refer to the exhibit.
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Fxlended 1P acoeess sl FGRESS

10 permit ip 10.1.100.0 0.0.0.25510.1.2.0 0.0.0.255
20 deny ip any any

An engineer must modify the access control list EGRESS to allow all IP traffic from subnet 10.1.10.0/24 to 10.1.2.1 /24. The access control list is applied in the
outbound direction on router interface GigabitEthemet 0/1. Which configuration commands can the engineer use to allow this traffic without disrupting existing

traffic flows?

A)
config t
ip access-list extended EGRESS
permit ip 10.1.10.0 255.255.2585.0 10.1.2.0 255.255.255.0
B)
config t
ip access-list extended EGRESS
S permitip 10.1.10.0 0.0.0.25656 10.1.2.0 0.0.0.266
C)
config t
ip access-list extended EGRESS2
permitip 10.1.10.0 0.0.0.255 10.1.2.0 0.0.0.285S
permitip 10.1.100.0 0.0.0.258 10.1.2.0 0.0.0.25S
deny ip any any
]
interface g0/1
Nno ip access-group EGRESS out
ip access-group EGRESS2Z out
D)
config t
ip access-list extended EGRESS
permitip 10.1.10.0 0.0.0.255 10.1.2.0 0.0.0.255
A. Option A
B. Option B
C. Option C
D. Option D
Answer: B

NEW QUESTION 134
Refer to the exhibit.

L L T Dallasfshow ip route ospf
il tea 3.0.0.0/32 is subnetted, 1 subnets
3 [i] 1.3.5.3 [118/40081] via 192.168.4.3, 90:32:18, FastEthernetd/o
0 1A 192.168.0.0/24 [100/145535] via 192.168.4.3, 00:44:2%, FastEthernetdsd
", 8 IA 192.168.1.8/24 [110/30000] via 192.168.4.3, 00:44:29, FastEthernetd/o
: 0 TA 192.168.2.0/28 [110/80000] via 192.168.4.3, 00:44:29, FastEthernetd/o
8 IA 192.168.3.8/24 [110/44000] via 192.168.4.3; 00:44:29;, FastEthernevd/o
Dallass

H 192.168.0

e e
T e
L e

- “OSPF Area 0 ~

L i Lod: 4.4.4.4/32 7

Which command when applied to the Atlanta router reduces type 3 LSA flooding into the backbone area and summarizes the inter-area routes on the Dallas

router?

A. Atlanta(config-route)#area O range 192.168.0.0 255.255.248.0
B. Atlanta(config-route)#area 0 range 192.168.0.0 255.255.252.0
C. Atlanta(config-route)#area 1 range 192.168.0.0 255.255.252.0
D. Atlanta(config-route)#area 1 range 192.168.0.0 255.255.248.0

Answer: C

NEW QUESTION 135
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An engineer has deployed a single Cisco 5520 WLC with a management IP address of 172.16.50.5/24. The engineer must register 50 new Cisco AIR-CAP2802I-E-
K9 access points to the WLC using DHCP option 43. The access points are connected to a switch in VLAN 100 that uses the 172.16.100.0/24 subnet. The
engineer has configured the DHCP scope on the switch as follows:

MNetwork 172.16.100.0 255 255 2550
Default Router 172161001
Option 43 Ascii 172 16.50.5

The access points are failing to join the wireless LAN controller. Which action resolves the issue?

A. configure option 43 Hex F104.AC10.3205
B. configure option 43 Hex F104.CA10.3205
C. configure dns-server 172.16.50.5

D. configure dns-server 172.16.100.1

Answer: B

NEW QUESTION 137
After a redundant route processor failure occurs on a Layer 3 device, which mechanism allows for packets to be forwarded from a neighboring router based on the
most recent tables?

A. BFD

B. RPVST+
C. RP failover
D. NSF

Answer: D

NEW QUESTION 140
Refer to the exhibit.

& &)

An engineer attempts to configure a trunk between switch swl and switch SW2 using DTP, but the trunk does not form. Which command should the engineer
apply to switch SW2 to resolve this issue?

A. switchport mode dynamic desirable
B. switchport nonegotiate

C. no switchport

D. switchport mode access

Answer: A

NEW QUESTION 145
Which device makes the decision for a wireless client to roam?

A. wireless client

B. wireless LAN controller
C. access point

D. WCS location server

Answer: A

NEW QUESTION 149

In a Cisco SD-Access solution, what is the role of the Identity Services Engine?
A. It is leveraged for dynamic endpoint to group mapping and policy definition.
B. It provides GUI management and abstraction via apps that share context.

C. it is used to analyze endpoint to app flows and monitor fabric status.

D. It manages the LISP EID database.

Answer: A

NEW QUESTION 151
Refer to me exhibit.

What is the cause of the log messages?

Your Partner of IT Exam visit - https://www.exambible.com



We recommend you to try the PREMIUM 350-401 Dumps From Exambible
exam blb|@ https://www.exambible.com/350-401-exam/ (235 Q&AS)

A. hello packet mismatch
B. OSPF area change

C. MTU mismatch

D. IP address mismatch

Answer: B

NEW QUESTION 153

Which TCP setting is tuned to minimize the risk of fragmentation on a GRE/IP tunnel?

A. MTU
B. Window size
C. MRU
D. MSS

Answer: D

Explanation:

The TCP Maximum Segment Size (TCP MSS) defines the maximum amount of data that a host

is willing to accept in a single TCP/IP datagram. This TCP/IP datagram might be fragmented at the IP layer. The MSS value is sent as a TCP header option only in
TCP SYN segments. Each side of a TCP connection reports its MSS value to the other side. Contrary to popular belief, the MSS value is not negotiated between
hosts. The sending host is required to limit the size of data in a single TCP segment to a value less than or equal to the MSS reported by the receiving host.

TCP MSS takes care of fragmentation at the two endpoints of a TCP connection, but it does not handle the case where there is a smaller MTU link in the middle

between these two endpoints. PMTUD was developed in order to avoid fragmentation in the path between the endpoints. It is

NEW QUESTION 155

Which command must be applied to R2 for an OSPF neighborship to form?

20.1.1.2124

20.1.1.1124

OSPF Area O

hostname Rl

router ospf 1

network 0.0.0.0 255.255.255.255 area 0
auto-cost reference-bandwadth 1000

1

hostname R2

router ospf 2

network 20.0.0.0 0.0.0.285 area 0

. network 20.1.1.2.0.0.0.0 area 0

. network 20.1.1.2 255.255.0.0. area O
. hetwork 20.1.1.2.0.0.255.255 area 0
. hetwork 20.1.1.2 255.255.255 area 0

o0Ow>

Answer: A

Explanation:

The network 20.0.0.0 0.0.0.255 area 0 command on R2 did not cover the IP address of Fal/l interface of R2 so OSPF did not run on this interface. Therefore we

have to use the command network 20.1.1.2 0.0.255.255 area 0 to turn on OSPF on this interface.

Note: The command network 20.1.1.2 0.0.255.255 area 0 can be used too so this answer is also correct but answer C is the best answer here.

The network 0.0.0.0 255.255.255.255 area 0 command on R1 will run OSPF on all active

NEW QUESTION 158
Refer to the exhibit.
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access-list 100 permit gre host 209.165.201.1 host 209.165 201.6

irypto Aakmp policy 5
authentication pre-share
hash 1ha 156
encryption M

group 14

orypto sekmp key DETE@CIn I address 209,165 201 6

Crypto ipset trarsform-set My S5t s10-a¢1 &30-1tha-Nmad
moge tranyport

Crypto map MAP 10 ipsec-isakmp
st peer 209,165 201 .6

gt trandform-iet My Sel
match addvess 100

interf ace Gog abatf thernetf0
dewrnption putside_interface

g v tchport
ip address 209 165.201.1 255 295 .255.252

crypto map MAP

interface Tunnel 100

ip address 192 168.100.1 155.255.155.0
ip mtu 1400

tunnel wurce Gigabitithermetd/0
tunned destination 209.165.201.6

ip route 10.20.0.0 255.2552550 192.168 100.2 Tunne!100

R

L. B"1LY. B |

access-lst 100 permit gre host 209,165 201.6 host 209165201 1

CryDI0 ikakmp podcy 3
saulhentCation pre share
hash shal5é

encryption se

group 14

Cryplo isakmp ey D@USCInt) sddress 209.163.201.1

Cryplo ipsec transform-set My Set etp-aes esp-sha-hmac
mode transport

CrYPTo map MAP 10 poec-i1akm
set peer J09.165.201.1

81 trarsform-set Wy Set
match sddress 100

Interface Gigabitithernetl/]
dewcription outude mterface

no twatchpon
ip address 209 165 200.6 755 295 255.252

crypdo map MAP

interface Tunne! 100

ip address 197 168 1002 255.755 2550
ip mitu 1400

tunnel source GagatetEtherneti/]
tunnel destmgtion 109165 201.1

ip route LO.10.00 255.255.255.0 192.168.100.1 Tunme 100

R

10,10 0.0/2/ L, 10 0/
Ly AN ]

JE T J0L N

A network engineer must simplify the IPsec configuration by enabling IPsec over GRE using IPsec profiles. Which two configuration changes accomplish this?

(Choose two).

A. Apply the crypto map to the tunnel interface and change the tunnel mode to tunnel mode ipsec ipv4.

B. Create an IPsec profile, associate the transform-se
C. and apply the profile to the tunnel interface.

D. Remove the crypto map and modify the ACL to allow traffic between 10.10.0.0/24 to 10.20.0.0/24.
E. Remove all configuration related to crypto map from R1 and R2 and eliminate the ACL |>]

F. Create an IPsec profile, associate the transform-set AC
G. and apply the profile to the tunnel interface

Answer: AD

NEW QUESTION 160

Which two components are supported by LISP? (Choose two.)
A. Proxy ETR

B. egress tunnel router

C. route reflector

D. HMAC algorithm

E. spoke

Answer: AB

NEW QUESTION 165

An engineer is working with the Cisco DNA Center API Drag and drop the methods from the left onto the actions that they are used for on the right.
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GET remaove an element using the API
POST update an slement
DELETE extract information from the API
PUT create an element
A. Mastered
B. Not Mastered
Answer: A
Explanation:
DELETE
PUT
GET
POST

NEW QUESTION 166
Drag and drop the REST API authentication methods from the left onto their descriptions on the right.

Answer Area
HTTP basic authenfication public APl resource
OAuth usermame and password in an encoded string
secure vault authorization through identity provider
A. Mastered

B. Not Mastered
Answer: A
Explanation:

A close-up of a graph Description automatically generated with low confidence

NEW QUESTION 169
Drag and drop the descriptions from the left onto the QoS components on the right.
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frrafic Pokong
cases TCP retraramessons when traffic s dropped
buffers oucesave traffic
Ntroduces NO dely and jttes
ntroduces delay and jteer ffrafic Shapng
drops encessve traffc
typeCaly delays, rathee than drops trafic
A. Mastered
B. Not Mastered
Answer: A
Explanation:
' fratic Pokong
causes TCP retranamisaons when traffic s dropped
S - - = — = ‘ buffers oxcosave trathc |
buffers gacessve raffic
il . i — cases TP retraramssons when traffic s dropped
[ Niroduces NO dedsy and jiter [ ntroduces delyy and Jtter 1

typecaly delays, rather than drops trafic I

typecaly delays, rather than drogs traffc ]

NEW QUESTION 170
A network engineer must configure a router to send logging messages to a syslog server based on these requirements:

> uses syslog IP address: 10.10.10.1

F

uses a reliable protocol

} must not use any well-known TCP/UDP ports
Which configuration must be used?

A. logging host 10.10.10.1 transport tcp port 1024
B. logging origin-id 10.10.10.1

C. logging host 10.10.10.1 transport udp port 1023
D. logging host 10.10.10.1 transport udp port 1024

Answer: A

NEW QUESTION 172

Which two mechanisms are available to secure NTP? (Choose two.)
A. IP prefix list-based

B. IPsec
C. TACACS-based authentication
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D. IP access list-based
E. Encrypted authentication

Answer: DE

NEW QUESTION 177
What is the data policy in a Cisco SD-WAN deployment?

A. list of ordered statements that define node configurations and authentication used within the SD-WAN overlay
B. Set of statements that defines how data is forwarded based on IP packet information and specific VPNs

C. detailed database mapping several kinds of addresses with their corresponding location

D. group of services tested to guarantee devices and links liveliness within the SD-WAN overlay

Answer: B

NEW QUESTION 182
Refer to the exhibit.

*Sep 11 03:LF: 42 854; WUINE-3-LPDOWH; Interlsce Parl-channsl 10, changed #ale 1o daver
B

BET; RUNEPROTO-5-UPDOWH: Line protocod on interface Port-chanmel10, changed state to down |
6859 REC 5 LIDONTBNDLY: GH)/1 suzpended: LACP curremt y not enabled on the remote port |
D12 49 38N RO S LADONT BMDLE : GIOM suspended: LACP currerd by nok enabled on the remote port

A network engineer troubleshoots an issue with the port channel between SW1 and SW2. which command resolves the issue?

A)
SWi(config-fj#channel-group 10 mode desirable

B)

SWi(config-if #channel-group 10 mode active

C)

SW2(config-if j#switchport mode trunk

D)

SWi(conhg-fj#channel-group 10 mode on

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 184
Refer to the exhibit.

— — — — — -

RE/FO/0/Ccud :aedaebug 1als adjacencles

RP/OSO/CPUD :Apr 2 20:57:00 . 471 ininflO10]): RECY P2P 1IN (L3)
from GigabitEthemmet0/0/0/0 SNPA falé.ldsbe.aTha: Systam 1D R2Z
Holdtlise 30, langth 1429

RFPSO/O/CPPO ApE 2 20:57:01.761 isis[1010) SEND P2P I11IH (L1}
on GigabitEthernet0/0/0/0: Holdtime 30s, Langth 41

A network operator is attempting to configure an 1S-IS adjacency between two routers, but the adjacency cannot be established. To troubleshoot the problem, the

operator collects this debugging output. Which interfaces are misconfigured on these routers?

A. The peer router interface is configured as Level 1 only, and the R2 interface is configured as Level 2 only
B. The R2 interface is configured as Level 1 only, and the Peer router interface is configured as Level 2 only
C. The R2 interface is configured as point-to-point, and the peer router interface is configured as multipoint.

D. The peer router interface is configured as point-as-point, and the R2 interface is configured as multipoint.
Answer: C

NEW QUESTION 186
Refer to the exhibit.
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i 10.1.1.1/32 10.2.2.2/32 )
- P —
l -~ I . u-*;'-f'"T-x.|
AS 100
e r
Link 1 Link 2
cgp— AS 200 P
;-u-"-"q-f‘-.-..‘ ._'_"{:::":1 I
10.3.3.3/32 10.4.4.4/32

An engineer must ensure that all traffic leaving AS 200 will choose Link 2 as an entry point. Assuming that all BGP neighbor relationships have been formed and
that the attributes have not been changed on any of the routers, which configuration accomplish task?

R3(conflig#route-map PREPEND permit 10

R3(config-route-map#set as-path prepend 200 200 200

R3{conlig#¥router bgp 200
Ri(config-router #neighber 10.1.1.1 route-map PREPEND out

Ra(configiroute-map PREPEND permit 10
R4(config-route-map)#set as-path prepend 100 100 100

Rd{config#router bgp 200
Ré{config-router)#neighbor 10.2.2.2 route-map PREPEND in

R3(conig #route-map PREPEND permit 10
Kilconlig-roule-mapl#sat as-path prapend 100 100 100

R3({conlig#router bgp 200
R3(contig-router)#neighbor 10.1.1.1 route-map PREPEND in

R4(config#route-map PREPEND permit 10
R4(config-route-map)#set as-path prepend 200 200 200

R4 {config #router bgp 200
Ré(config-router)#neighbor 10.2.2.2 route-map PREPEND out

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

Explanation:
R3 advertises BGP updates to R1 with multiple AS 100 so R3 believes the path to reach AS 200 via R3 is farther than R2 so R3 will choose R2 to forward traffic to
AS 200.

NEW QUESTION 187
A network is being migrated from IPV4 to IPV6 using a dual-stack approach. Network management is already 100% IPV6 enabled. In a dual-stack network with
two dual-stack NetFlow collections, how many flow exporters are needed per network device in the flexible NetFlow configuration?

oowp
oo A~ADNPE

Answer: B

NEW QUESTION 190
A customer has recently implemented a new wireless infrastructure using WLC-5520 at a site directly next to a large commercial airport. Users report that they
intermittently lose WI-FI connectivity, and troubleshooting reveals it is due to frequent channel changes. Which two actions fix this issue? (Choose two)

A. Remove UNII-2 and Extended UNII-2 channels from the 5 Ghz channel list

B. Restore the DCA default settings because this automatically avoids channel interference.

C. Configure channels on the UNIk2 and the Extended UNII-2 sub-bands of the 5 Ghz band only
D. Enable DFS channels because they are immune to radar interference.

E. Disable DFS channels to prevent interference with Doppler radar

Answer: AE
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NEW QUESTION 192
Refer to the exhibit.

i 10.1.1.1/32 10.2.2.2/32 )
e .
l - I l g I
AS 100
h F
Link 1 Link 2
- )
e S G
) e T
10.3.3.3/32 10.4.4.4/32
LN >

An engineer must ensure that all traffic leaving AS 200 will choose Link 2 as the exit point. Assuming that all BGP neighbor relationships have been formed and
that the attributes have not been changed on any of the routers, which configuration accomplish task?

A. R4(config-router)bgp default local-preference 200
B. R3(config-router)neighbor 10.1.1.1 weight 200

C. R3(config-router)bgp default local-preference 200
D. R4(config-router)nighbor 10.2.2.2 weight 200

Answer: A

Explanation:
Local preference is an indication to the AS about which path has preference to exit the AS in order to reach a certain network. A path with a higher local preference
is preferred. The default value for local preference is 100.

Unlike the weight attribute, which is only relevant to the local router, local preference is an attribute that routers exchange in the same AS. The local
preference is set with the “bgp default local-preference value” command.

In this case, both R3 & R4 have exit links but R4 has higher local-preference so R4 will be chosen as the preferred exit point from AS 200.

NEW QUESTION 195
Refer to the exhibit.

Which troubleshooting a routing issue, an engineer issues a ping from S1 to S2. When two actions from the initial value of the TTL? (Choose two.)

A. The packet reaches R3, and the TTL expires
B. R2 replies with a TTL exceeded message
C. R3 replies with a TTL exceeded message.
D. The packet reaches R2 and the TTL expires
E. R1 replies with a TTL exceeded message
F. The packet reaches R1 and the TTL expires.

Answer: AC

NEW QUESTION 196

which features does Cisco EDR use to provide threat detection and response protection?
A. containment, threat intelligence, and machine learning

B. firewalling and intrusion prevention
C. container-based agents
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D. cloud analysis and endpoint firewall controls

Answer: A

NEW QUESTION 197
Refer to the exhibit.

Antenna 30 Radiation Pattern

Which type of antenna does the radiation pattern represent?

A. Yagi

B. multidirectional
C. directional patch
D. omnidirectional

Answer: A

Explanation:
A Yagi antenna is formed by driving a simple antenna, typically a dipole or dipolelike
antenna, and shaping the beam using a well-chosen series of non-driven elements whose length and spacing are tightly controlled.

w
-

Reference: https://www.cisco.com/c/en/us/products/collateral/wireless/aironetantennas-accessories/prod_white_paper0900aecd806ala3e.htm

NEW QUESTION 198
Refer to the exhibit.

What is the effect of these commands on the BR and HQ tunnel interfaces?

BR(configittinterface tunnel?
BR(config-ifjskeepalive 5 3

HQ(config)interface tunnell
HOQ(config-f)gkeepalive 5 )

A. The tunnel line protocol goes down when the keepalive counter reaches 6

B. The keepalives are sent every 5 seconds and 3 retries
C. The keepalives are sent every 3 seconds and 5 retries

D. The tunnel line protocol goes down when the keepalive counter reaches 5

Answer: B

NEW QUESTION 202

]
Internel

How does Cisco Trustsec enable more access controls for dynamic networking environments and data centers?
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A. classifies traffic based on advanced application recognition

B. uses flexible NetFlow

C. classifies traffic based on the contextual identity of the endpoint rather than its IP address correct
D. assigns a VLAN to the endpoint

Answer: C

NEW QUESTION 204
Wireless users report frequent disconnections from the wireless network. While troubleshooting a network engineer finds that after the user a disconnect, the
connection re-establishes automatically without any input required. The engineer also notices these message logs .

= T o e Ll gt )
=

£ 13 LY b oAl Lils el arhall

F BT _'.._" '_.'-- A 1L IWHGE S ::'l_

Which action reduces the user impact?

A. increase the AP heartbeat timeout

B. increase BandSelect

C. enable coverage hole detection

D. increase the dynamic channel assignment interval

Answer: D

Explanation:

These message logs inform that the radio channel has been reset (and the AP must be down briefly). With dynamic channel assignment (DCA), the radios can
frequently switch from one channel to another but it also makes disruption. The default DCA interval is 10 minutes, which is matched with the time of the message
logs. By increasing the DCA interval, we can reduce the number of times our users are disconnected for changing radio channels.

NEW QUESTION 207
At which Layer does Cisco DNA Center support REST controls?

A. EEM applets or scripts

B. Session layer

C. YMAL output from responses to API calls
D. Northbound APIs

Answer: D

NEW QUESTION 208
Refer to the exhibit.

An engineer is investigating why guest users are able to access other guest user devices when the users are connected to the customer guest WLAN. What action
resolves this issue?

A. implement MFP client protection
B. implement split tunneling

C. implement P2P blocking

D. implement Wi-Fi direct policy

Answer: B
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Explanation:
https://www.cisco.com/c/en/us/td/docs/wireless/controller/8-1/configurationguide

NEW QUESTION 213
Drag and drop the wireless elements on the left to their definitions on the right.

baamwadtth graph that shows the relitive Ntenaty of the agnal strength
r of & antérna within its space
- rélitve NoeEe N agnd strength of an antennas N 3 gven
—— - e
radation pattésrs exares the ange of an anternd pattemnm n whch the
agndl stréngth 5 hatl-powes Delow The Masmum vaus
aduted slectromagretc waves that nfuence the onoentation
e of an anterna within its eectromagnetic feid

A. Mastered
B. Not Mastered

Answer: A
Explanation:

Chart, line chart Description automatically generated

NEW QUESTION 217
Which configuration restricts the amount of SSH that a router accepts 100 kbps?
A)
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

Explanation:

CoPP protects the route processor on network devices by treating route processor resources as a separate entity with its own ingress interface (and in some

implementations, egress also). CoPP is used to police traffic that is destined to the route processor of the router such as:

+ routing protocols like OSPF, EIGRP, or BGP.
+ Gateway redundancy protocols like HSRP, VRRP, or GLBP.
+ Network management protocols like telnet, SSH, SNMP, or RADIUS.

EFII!.H-I Precessar ™
™o
L1 L |
- o #F I_IJ-‘
— 1+ I m“’ E 1l
| l 2 o i _f___|L.
corp H—C ([0
Intertace ACL T3 i
v
Marage mem "_. CEF
Corire T
Serv s !
].]",.] _
ingress = Egress
rerace IMerace

Therefore we must apply the CoPP to deal with SSH because it is in the management plane. CoPP must be put under “control-plane” command.

NEW QUESTION 221
Refer to the exhibit.

 General | Security | QoS | Advanced | Policy Mapping

Layer2 | Layer3 | AAAServers |

Fast 1ransition

Fast Transition

Protected Management Frame

PMF
WPA+WPA2 P

Disabled

arameters

WPA Policy

WPA2 Policy-AES

Authentication Key Management

802.1X
CCKM
PSK

FT 802.1X
FT PSK
PSK Format

Based on the configuration in this WLAN security setting, Which method can a client use to authenticate to the network?

A. text string

Enable
"1 Enable
/| Enable
Enable
Enable

B. username and password

C. certificate
D. RADIUS token

Answer: A

NEW QUESTION 224

ASCII

-

CELETEE L]

A server running Linux is providing support for virtual machines along with DNS and DHCP services for a small business. Which technology does this represent?

A. container

B. Type 1 hypervisor
C. hardware pass-thru
D. Type 2 hypervisor

Answer: D
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NEW QUESTION 227
How does an on-premises infrastructure compare to a cloud infrastructure?

A. On-premises can increase compute power faster than cloud

B. On-premises requires less power and cooling resources than cloud

C. On-premises offers faster deployment than cloud

D. On-premises offers lower latency for physically adjacent systems than cloud.

Answer: D

NEW QUESTION 232
What are two characteristics of VXLAN? (Choose two)

A. It uses VTEPSs to encapsulate and decapsulate frames.

B. It has a 12-bit network identifier

C. It allows for up to 16 million VXLAN segments

D. It lacks support for host mobility

E. It extends Layer 2 and Layer 3 overlay networks over a Layer 2 underlay.

Answer: AC

NEW QUESTION 235
Refer the exhibit.
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Which router is the designated router on the segment 192.168.0.0/247?

A. This segment has no designated router because it is a nonbroadcast network type.
B. This segment has no designated router because it is a p2p network type.

C. Router Chicago because it has a lower router 1D

D. Router NewYork because it has a higher router ID

Answer: B

NEW QUESTION 240

Which two operational models enable an AP to scan one or more wireless channels for rouge access points and at the same time provide wireless services to

clients? (Choose two.)

A. Rouge detector
B. Sniffer

C. FlexConnect
D. Local

E. Monitor

Answer: DE

NEW QUESTION 241

Which method of account authentication does OAuth 2.0 within REST APIs?
A. username/role combination

B. access tokens

C. cookie authentication

D. basic signature workflow

Answer: B
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Explanation:

The most common implementations of OAuth (OAuth 2.0) use one or both of these tokens:

+ access token: sent like an API key, it allows the application to access a user’s data; optionally, access tokens can expire.

+ refresh token: optionally part of an OAuth flow, refresh tokens retrieve a new access token if they have expired. OAuth2 combines Authentication and
Authorization to allow more sophisticated scope and validity control.

NEW QUESTION 242
Which new enhancement was implemented in Wi-Fi 67

A. Wi-Fi Protected Access 3

B. 4096 Quadrature Amplitude Modulation Mode

C. Channel bonding

D. Uplink and Downlink Orthogonal Frequency Division Multiple Access

Answer: B

NEW QUESTION 246
An engineer configures HSRP group 37. The configuration does not modify the default virtual MAC address. Which virtual MAC address does the group use?

A. C0:00:00:25:00:00
B. 00:00:0c:07:ac:37
C. C0:39:83:25:258:5
D. 00:00:0c:07:ac:25

Answer: D

NEW QUESTION 249
Refer to the exhibit.

Which type of antenna is show on the radiation patterns?

A. Dipole

B. Yagi

C. Patch

D. Omnidirectional

Answer: A

NEW QUESTION 251
The login method is configured on the VTY lines of a router with these parameters.

> The first method for authentication is TACACS

> If TACACS is unavailable, login is allowed without any provided credentials
Which configuration accomplishes this task?

A. R1#sh run | include aaa aaa hew-modelaaa authentication login VTY group tacacs+ none aaa session-id commonR1#sh run | section vty line vty 0 4password 7
0202039485748R1#sh run | include username R1#

B. R1#sh run | include aaa aaa new-modelaaa authentication login telnet group tacacs+ none aaa session-id commonR1#sh run | section vty line vty 0 4R1#sh run
| include username R1#

C. R1#sh run | include aaa aaa new-modelaaa authentication login default group tacacs+ none aaa session-id commonR1#sh run | section vty line vty O
4password 7 0202039485748

D. R1#sh run | include aaa aaa new-modelaaa authentication login default group tacacs+ aaa session-id commonR1#sh run | section vty line vty 0 4transport input
none R1#

Answer: C

Explanation:

According to the requirements (first use TACACS+, then allow login with no authentication), we have to use “aaa authentication login ... group tacacs+ none” for
AAA command.

The next thing to check is the if the “aaa authentication login default” or “aaa authentication login list-name” is used. The ‘default’ keyword means we want to
apply for all login connections

(such as tty, vty, console and aux). If we use this keyword, we don’t need to configure anything else under tty, vty and aux lines. If we don’t use this keyword then
we have to specify which line(s) we want to apply the authentication feature.

From above information, we can find out answer 'R1#sh run | include aaa aaa new-model

aaa authentication login default group tacacs+ none aaa session-id common

R1#sh run | section vty line vty 0 4

password 7 0202039485748

If you want to learn more about AAA configuration, please read our AAA TACACS+ and RADIUS Tutorial — Part 2.

For your information, answer 'R1#sh run | include aaa aaa new-model

aaa authentication login telnet group tacacs+ none aaa session-id common
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R1#sh run | section vty line vty 0 4

R1#sh run | include username

R1# would be correct if we add the following command under vty line (“line vty 0 4”): “login
authentication telnet” (“telnet” is the name of the AAA list above)

NEW QUESTION 256
What is a fact about Cisco EAP-FAST?

A. It does not require a RADIUS server certificate.
B. It requires a client certificate.

C. Itis an IETF standard.

D. It operates in transparent mode.

Answer: A

NEW QUESTION 260
Refer to the exhibit.

The IP SLA is configured in a router. An engineer must configure an EEM applet to shut down the interface and bring it back up when there is a problem with the
IP SLA. Which configuration should the engineer use?

A. event manager applet EEM_IP_SLA event track 10 state down

B. event manager applet EEM_IP_SLA event track 10 state unreachable
C. event manager applet EEM_IP_SLA event sla 10 state unreachable
D. event manager applet EEM_IP_SLA event sla 10 state down

Answer: A

Explanation:
The ip sla 10 will ping the IP 192.168.10.20 every 3 seconds to make sure the connection is still up. We can configure an EEM applet if there is any problem with
this IP SLA via the command event track 10 state down.

NEW QUESTION 265
Which protocol is used to encrypt control plane traffic between SD-WAN controllers and SD-WAN endpoints?

A. DTLS
B. IPsec
C. PGP
D. HTTPS

Answer: A

NEW QUESTION 269

How is 802.11 traffic handled in a fabric-enabled SSID?

A. centrally switched back to WLC where the user traffic is mapped to a VXLAN on the WLC
B. converted by the AP into 802.3 and encapsulated into VXLAN

C. centrally switched back to WLC where the user traffic is mapped to a VLAN on the WLC
D. converted by the AP into 802.3 and encapsulated into a VLAN

Answer: B

NEW QUESTION 271
Drag and drop the characteristics from the left onto the appropriate infrastructure deployment types on the right.
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A. Mastered
B. Not Mastered

Answer: A

Explanation:
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NEW QUESTION 275

ey 1o e and upgrade

requres a strong and stable ntermet connection

buit-n, automated data backups and recovery

A company has an existing Cisco 5520 HA cluster using SSO. An engineer deploys a new single Cisco Catalyst 9800 WLC to test new features. The engineer
successfully configures a mobility tunnel between the 5520 cluster and 9800 WLC. Client connected to the corporate WLAN roam seamlessly between access
points on the 5520 and 9800 WLC. After a failure on the primary 5520 WLC, all WLAN services remain functional; however, Client roam between the 5520 and
9800 controllers without dropping their connection. Which feature must be configured to remedy the issue?

A. mobility MAC on the 5520 cluster
B. mobility MAC on the 9800 WLC
C. new mobility on the 5520 cluster
D. new mobility on the 9800 WLC

Answer: B

NEW QUESTION 277

Which measure is used by an NTP server to indicate its closeness to the authoritative time source?

A. latency
B. hop count
C. time zone
D. stratum

Answer: D
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NEW QUESTION 279

Which outbound access list, applied to the WAN interface of a router, permits all traffic except for http traffic sourced from the workstation with IP address

10.10.10.17

A)

ip access-list extended 100

deny lcp hast 10.10 10 1 any eq 80
pErMIt ip Sriy any

B)

ip access-hst extended 200

deny icp host 10 10 10 1 eg 30 any
permit ip any any

C)

ip access-list extended MO HTTF

deny tcp host 10.10.10.1 any ag 8(

D)

ip access.list extended 10
e

3t 10.10.10.1 any eq 8(

Aoy o
AT RLE L

peErmit 1p ary any

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 280
Which technology is used as the basis for the cisco sd-access data plane?

A. IPsec
B. LISP
C. VXLAN
D. 802.1Q

Answer: C

NEW QUESTION 282
What is the function of a VTEP in VXLAN?

A. provide the routing underlay and overlay for VXLAN headers

B. dynamically discover the location of end hosts in a VXLAN fabric

C. encapsulate and de-encapsulate traffic into and out of the VXLAN fabric
D. statically point to end host locations of the VXLAN fabric

Answer: C

NEW QUESTION 286
Which characteristic distinguishes Ansible from Chef?

A. Ansible lacs redundancy support for the master serve
B. Chef runs two masters in an active/active mode.

C. Ansible uses Ruby to manage configuration

D. Chef uses YAML to manage configurations.

E. Ansible pushes the configuration to the clien

F. Chef client pulls the configuration from the server.

G. The Ansible server can run on Linux, Unix or Window
H. The Chef server must run on Linux or Unix.

Answer: C

NEW QUESTION 288
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